DU BA Honours Humanities N Social Sciences

Topic:- DU_J18_BA_HSS_Mandatory 75 Qs

1) Broadcast media is linked with . [Question ID = 18607]

1. Books [Option 1D = 44419]

2. Telephone [Option ID = 44421]
3. Radio [Option ID = 44420]

4, Internet [Option ID = 44422]

Correct Answer :-
« Radio [Option ID = 44420]

2) Read the following statements:

i. Jallikattu is a tradition practiced to worship cattle stock.

ii. Kambala is an annual bull race held in Karnataka.

Which of the above statement/s is/are correct? [Question ID = 18668]

1. Bothiand ii [Option ID = 44665]
2. i only [Option ID = 44664]

3. ionly [Option ID = 44663]

4. Neither i nor ii [Option 1D = 44666]

Correct Answer :-
» jonly [Option ID = 44663]

3) When you pass off someone’s work as your own, it is not called . [Question ID = 18633]

1. Plagiarism [Option ID = 44524]

2. Copyright [Option ID = 44525]

3. Piracy [Option ID = 44526]

4, Infringement of copyright [Option ID = 44523]

Correct Answer :-
= Copyright [Option ID = 44525]

4) Permanent Hair straightening technology uses . [Question ID = 18659]

1. hot air only [Option ID = 44627]

2. protein serum and hot air [Option ID = 44629]
3. lipid solution and hot air [Option ID = 44630]
4, hot iron rod [Option ID = 44628]

Correct Answer :-
« protein serum and hot air [Option ID = 44629]

5) 'Right to Privacy’ has been declared as a Fundamental Right by the Supreme Court of India. This is inherent to which of the following
Article of the constitution? [Question ID = 18642]

1. 22 [Option ID = 44562]
2. 20 [Option ID = 44559]
3. 21 [Option ID = 44560]
4, 23 [Option ID = 44561]

Correct Answer :-
» 21 [Option ID = 44560]

6) To combat air pollution the efficacy of anti-smog guns was tested in Anand Vihar, Delhi. Which of the following ingredient is used in an
anti-smog gun? [Question ID = 18656]

1. Liguid nitrogen [Option ID = 44617]
2. Water [Option ID = 44615]

3. Liquid CO [Option ID = 44618]

4, Dry ice [Option ID = 44616]
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Correct Answer :-
» Water [Option ID = 44615]

7) The phenomena of reduced individual effort when working on a collective task is called . [Question ID = 18623]

1. Group Polarization [Option ID = 44484]
2. Social Facilitation [Option ID = 44483]
3. Social Loafing [Option ID = 44485]

4. Social Influence [Option ID = 44486]

Correct Answer :-
» Social Loafing [Option ID = 44485]

8) Rohingya crisis happened in . [Question ID = 18666]

1. Tibet [Option ID = 44657]

2. Myanmar [Option ID = 44656]
3. Bhutan [Option ID = 44658]
4, Maldives [Option ID = 44655]

Correct Answer :-

» Myanmar [Option ID = 44656]

9) The word 'UDAAN' is related to . [Question ID = 18619]

1. Medium Small Micro Enterprises [Option ID = 44468]

2. Regional connectivity and cheap air fare [Option ID = 44470]

3. Scholarship for education in foreign universities [Option ID = 44469]
4. Start-up India [Option ID = 44467]

Correct Answer :-
» Regional connectivity and cheap air fare [Option ID = 44470]

10) Shetkari Bazar, a concept of direct marketing by producer (farmer) to consumers is practiced in . [Question ID = 18681]

1. Gujarat [Option ID = 44715]

2. Haryana [Option ID = 44717]

3. Punjab [Option ID = 44718]

4, Maharashtra [Option ID = 44716]

Correct Answer :-
» Maharashtra [Option ID = 44716]

11) In the definition of GDP, "market value” refers to [Question ID = 18679]

1. valuing production in production units. [Option ID = 44707]

2. valuing production according to the market price. [Option ID = 44709]
3. valuing production according to the public opinion [Option ID = 44710]
4. not counting intermediate products. [Option ID = 44708]

Correct Answer :-
« valuing production according to the market price. [Option ID = 44709]

12) Acid Rain is caused by . [Question ID = 18613]

1. Nitrogen Oxide and Ozone [Option ID = 44444]

2. Nitrogen Oxide and Carbon Dioxide [Option ID = 44443]
3. Nitrogen Oxide and Hydrocarbon [Option ID = 44445]

4. Nitrogen Oxide and Sulphur Dioxide [Option ID = 44446]

Correct Answer :-
= Nitrogen Oxide and Sulphur Dioxide [Option ID = 44446]

13) The earliest coins, known as the punch-marked coins, were made largely of . [Question ID = 18643]

1. Gold [Option ID = 44566]
2. Copper [Option ID = 44565]
3. Lead [Option ID = 44563]
4, Silver [Option ID = 44564]
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Correct Answer ;-
» Silver [Option ID = 44564]

14) A colour blind person is one who . [Question ID = 18658]

1. cannot distinguish only between red and green colour [Option 1D = 44625]
2. cannot identify secondary colours [Option ID = 44624]

3. cannot identify colours [Option ID = 44623]

4. cannot distinguish only between red and yellow colour [Option 1D = 44626]

Correct Answer :-
» cannot distinguish only between red and green colour [Option ID = 44625]

15) If 1st January, 2006 was a Sunday, on what day did 1st of January, 2010 fall? [Question ID = 18627]

1. Sunday [Option ID = 44502]

2. Monday [Option ID = 44499]

3. Wednesday [Option ID = 44500]
4, Friday [Option ID = 44501]

Correct Answer :-
= Friday [Option ID = 44501]

16) The word 'Digital Infopedia’ is related to . [Question ID = 18620]

1. Association of Southeast Asian Nations (ASEAN) [Option ID = 44474

2. National Institute of Solar Energy (NISE) [Option ID = 44473]

3. European Union (EU) [Option ID = 44472]

4. Brazil, Russia, India, China and South Africa (BRICS) [Option ID = 44471]

Correct Answer :-
» National Institute of Solar Energy (NISE) [Option ID = 44473]

17) Consider two trucks of the same make having equal weights. One of the trucks is loaded with 2000 kg of iron ore while the other
truck is empty. Assuming that these two trucks are running parallel at the same speed, if both the truck drivers apply breaks with the
same force simultaneously, which of the following statements will be true for their halt? [Question ID = 18653]

1. Data insufficient as the fuel is unknown. [Option ID = 44606]

2. Both trucks will travel equal distance before stopping. [Option ID = 44603]
3. The loaded truck will stop earlier. [Option ID = 44605]

4, The empty truck will stop earlier. [Option ID = 44604]

Correct Answer :-
» The empty truck will stop earlier. [Option ID = 44604]

18) Anupam Misra, a renowned activist, is known for his work in the area of . [Question ID = 18621]

1. Tribal Art [Option ID = 44478]

2. Poverty and hunger [Option ID = 44477]
3. Environment [Option ID = 44475]

4. Child rights [Option ID = 44476]

Correct Answer :-
» Environment [Option ID = 44475]

19) To be non-credible, media should indulge in . [Question ID = 18634]

1. printing believable stories. [Option ID = 44527]

2. covering stories impartially. [Option ID = 44529]

3. being accurate while reporting [Option 1D = 44530]
4. sensationalizing stories. [Option ID = 44528]

Correct Answer :-
= being accurate while reporting [Option ID = 44530]

20) An example of media convergence is . [Question ID = 18610]

1. the newspaper [Option 1D = 44431]
2. the magazine [Option ID = 44434]
3. the radio [Option ID = 44432]
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4, the internet [Option ID = 44433]

Correct Answer :-
» the internet [Option ID = 44433]

21) You have a Facebook account and was shared an article which had content of violence against women. You
18635]

. [Question ID =

1. comment about the negative content of the video and share it. [Option ID = 44533]
2. dislike the video. [Option ID = 44532]

3. report it to the authorities. [Option ID = 44534]

4, delete the video from your account. [Option ID = 44531]

Correct Answer :-
» report it to the authorities. [Option ID = 44534]

22) Blu-ray and Bluetooth . [Question ID = 18650]

1. are fundamentally different. [Option ID = 44593]

2. use the same technology. [Option ID = 44592]

3. are both used for data storage. [Option ID = 44594]
4. have the same functions. [Option ID = 44591]

Correct Answer :-
« are fundamentally different. [Option ID = 44593]

23) What is the time difference between longitudes? [Question ID = 18675]

1. 4 minutes [Option ID = 44693]
2. 4 minutes 20 seconds [Option ID = 44694]
3. 5 minutes [Option ID = 44691]
4, 5 minutes 20 seconds [Option ID = 44692]

Correct Answer :-
= 4 minutes [Option ID = 44693]

24) What is pluralism? [Question ID = 18609]

1. None of these [Option ID = 44430]

2. It is a society state under which people can choose the media vehicles according to their tastes and preferences. [Option 1D = 44428]
3. It is a social structure that allows and assures the distribution of multiple messages. [Option ID = 44427]

4, Tt is a ruling of an autocratic ruler that forces the masses to choose a number of media for collecting information. [Option ID = 44429]

Correct Answer :-

25) In march 2017, the high court of Uttarakhand gave a decision on the rivers Ganga and Yamuna opining that they
[Question ID = 18617]

1. are in need of protection from the Government of India [Option ID = 44459]
2. are the religious identities of the Hindu community [Option 1D = 44460]

3. are living entities [Option ID = 44461]

4, are the national rivers of India [Option ID = 44462]

Correct Answer :-

» are living entities [Option ID = 44461]

26) POCSO Act is related to . [Question ID = 18638]

1. Gender Rights [Option ID = 44543]

2. Rights of Minorities [Option ID = 44546]
3. Tribal Rights [Option ID = 44545]

4. Child Abuse [Option ID = 44544]

Correct Answer :-
« Child Abuse [Option ID = 44544]

27) Air quality, measured by Air Quality Index (AQI), has a good quality air range between . [Question ID = 18657]
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1. 0-200 [Option ID = 44621]
2. 0-100 [Option ID = 44620]
3. 0-500 [Option ID = 44622]
4, 0-50 [Option ID = 44619]

Correct Answer :-
« 0-50 [Option ID = 44619]

28) Faisal is two years older than Amir who is twice as old as Naman. If the total of the ages of Faisal, Amir and Naman is 27, then how
old is Amir? [Question ID = 18631]

1. 11 [Option ID = 44516]
2. 9 [Option ID = 44518]

3. 12 [Option ID = 44517]
4, 10 [Option ID = 44515]

Correct Answer :-
- 10 [Option ID = 44515]

29) Thomas Roe was sent as the British Ambassador to the Court of . [Question ID = 18645]

1. Aurangzeb [Option ID = 44574]
2. Akbar [Option ID = 44571]

3. Shah Jahan [Option ID = 44573]
4, Jahangir [Option ID = 44572]

Correct Answer ;-
» Jahangir [Option ID = 44572]

30) Raju ranks 4th in a class. Bhuvan ranks 9th from the last. If Chandra is 9th after Raju and just in the middle of Raju and Bhuvan, how
many students are there in the class?

[Question ID = 18630]

1. 34 [Option ID = 44514]
2. 32 [Option ID = 44511]
3. 35 [Option ID = 44513]
4, 30 [Option ID = 44512]

Correct Answer :-
« 30 [Option ID = 44512]

. [Question ID = 18660]

31) Social Innovation refers to

1. Using latest technology to replace the existing solution of a social problem. [Option ID = 44633]

2. Novel solution to a social problem that is more effective, efficient and sustainable than the existing solutions. [Option ID = 44631]
3. A new solution to social problems provided by the governmental agencies for the development of an area. [Option ID = 44632]
4. A solution to a social problem brought about by entrepreneurs to facilitate better marketing [Option ID = 44634]

Correct Answer :-
= Novel solution to a social problem that is more effective, efficient and sustainable than the existing solutions. [Option ID = 44631]

32) Consider the following statements about Sophia, the humanoid robot
1. is a citizen of Saudi Arabia.

2. has been developed by Hanson Robotics.

Which of the above statement/s is/are true?

[Question ID = 18648]

1. Both 1 and 2 [Option ID = 44585]
2. 2 only [Option ID = 44584]

3. 1 only [Option ID = 44583]

4. Neither 1 nor 2 [Option ID = 44586]

Correct Answer :-
» Both 1 and 2 [Option ID = 44585]

33) Which of the following tribal community practices polyandry? [Question ID = 18671]
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Ho [Option ID = 44676]
Lotha [Option ID = 44677]
Brokpa [Option ID = 44675]
Konyak [Option ID = 44678]

A Dl

Correct Answer :-
» Brokpa [Option ID = 44675]
34) Which of the following factors influences the mechanism of Indian weather?
i. The shifting in the position of ITCZ
ii. EI-Nino
iii. Jet Streams [Question ID = 18676]

1. ii and iii [Option ID = 44698]
2. i and ii only [Option ID = 44696]
3. i, i and iii [Option ID = 44697]
4. i only [Option ID = 44695]

Correct Answer :-
« i, ii and iii [Option ID = 44697]

35) Which of the following is not correctly matched? [Question ID = 18663]

1. S H Raza — Bindu Art [Option 1D = 44646]

2. Pablo Picasso — Cubism [Option ID = 44643]

3. Leonardo Da Vinci — The Last Supper [Option ID = 44644]
4, Tyeb Mehta — Architectural Art [Option ID = 44645]

Correct Answer :-
» Tyeb Mehta — Architectural Art [Option ID = 44645]

36) Which one of the following is not an element of art? [Question ID = 18662]

1. Line [Option ID = 44639]

2. Colour [Option 1D = 44640]

3. Value [Option ID = 44642]

4, Photograph [Option ID = 44641]

Correct Answer ;-
» Photograph [Option ID = 44641]

37) In terms of the increasing level of acidity, which of the following option has been correctly sequenced. [Question ID = 18654]

1. Mango, Lemon, Pomegranate [Option ID = 44610]
2. Mango, Pomegranate, Lemon [Option ID = 44608]
3. Pomegranate, Mango, Lemon [Option ID = 44609]
4. Lemon, Pomegranate, Mango [Option 1D = 44607]

Correct Answer :-
» Pomegranate, Mango, Lemon [Option ID = 44609]

38) An editorial is . [Question ID = 18608]

1. a point of view of a stakeholder. [Option ID = 44424]

2. a point of view of the chief editor. [Option ID = 44426]

3. a piece of interview. [Option ID = 44423]

4, one-sided approach of the Government. [Option ID = 44425]

Correct Answer :-
= a point of view of a stakeholder. [Option ID = 44424]

39) Article 356 of the Indian Constitution is related to which of the following? [Question ID = 18639]

1. Internal Emergency [Option ID = 44549]

2. National Emergency [Option ID = 44550]

3. Proclamation of Emergency [Option ID = 44547]
4. President’s Rule [Option ID = 44548]

Correct Answer :-
» President's Rule [Option ID = 44548]
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40) The Mughal Emperor who was an excellent connoisseur of paintings was . [Question ID = 18644]

1. Aurangzeb [Option ID = 44570]
2. Akbar [Option ID = 44567]

3. Shah Jahan [Option ID = 44569]
4. Jahangir [Option ID = 44568]

Correct Answer :-
« Jahangir [Option ID = 44568]

41) The Hindi feature film ‘Newton’ dealt with the issue of . [Question ID = 18665]

1. Science and technology [Option ID = 44651]

2. Challenges faced in conducting elections in disturbed areas [Option ID = 44653]
3. Life of Sir Issac Newton [Option ID = 44654]

4. Social networking [Option ID = 44652]

Correct Answer :-
= Challenges faced in conducting elections in disturbed areas [Option ID = 44653]

42) Match the following:

i. Frontal Lobe a. Sensation & coordination

ii. Parietal Lobe b.Speech & language functions
ili. Temporal Lobe c. Visual information

iv. Occipital Lobe d. Cognitive functions

[Question ID = 18625]

. i(c); ii(b); iii(d); iv(a) [Option ID = 44493]
. i(d); ii(a); iii(b); iv(c) [Option ID = 44491]
. i(b); ii(d); iii(a); iv(c) [Option ID = 44494]
. i(b); ii(a); iii(c); iv(d) [Option ID = 44492]

R

Correct Answer :-
= i(d); ii(a); iii(b); iw(c) [Option ID = 44491]

43) Match the following.

i Dollard & Miller a. Somatic Theory

n. Schachter & Singer b. Simultaneous Arousal of Emotions & Physiology
. James-Lange c. Frustration-Aggression Hypothesis

iv. Cannon-Bard d. Cognitive-Affective Theory

[Question ID = 18622]

1. i(c); ii(d); iii(a); iv(b) [Option ID = 44482]
2. i(d); ii(a); iii(b); iv(c) [Option ID = 44480]
3. i(a); ii(b); iii(c); iv(d) [Option ID = 44479]
4, i(b); ii(c); iii(d); iv(a) [Option ID = 44481]

Correct Answer :-
= i(c); ii(d); iii(a); iv(b) [Option ID = 44482]

44) Match the following and choose the correct option.

Magszing Genre

1 Verve a. Children

n. The Caravan b. Current Affairs

i1 OPEN c. Politics and Culture
iv. Champak d. Women's Lifestyle

[Question ID = 18611]

1. i (d); ii (b); iii (c); iv (a) [Option ID = 44438]
2. i (d); ii (c); iii (b); iv (@) [Option ID = 44436]
3. i (b); i (a); iii (d); iv (c) [Option ID = 44435]
4. i (d); ii (c); iii (a); iv (b) [Option ID = 44437]
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Correct Answer :-
= i(d); ii (c); iii (b); iv(a) [Option ID = 44436]

45) Match the following instruments with their patrons?

1. Tetseo sisters a_Rudraveena
ii.AkRar Khan b. Pakhawai
iii. Pt. Ravishankar Upadhya c. Tati
iv. Shiv Kumar Sharma d.Pena

e. 3antoor

[Question ID = 18672]

1. i (b); ii (d); iii (&); iv (c) [Option ID = 44682]

2. i(a); ii (b); iii (c); iv (d) [Option ID = 44681]
3. i(e);ii(c), iii (b); iv (d) [Option ID = 44679]
4, i(c); ii (a); iii (b); iv (e) [Option ID = 44680]

Correct Answer :-

« i(c); ii (a); iii (b); iv (e) [Option ID = 44680]

46) match the following:

i- Dandi March a. Quit India Movement
il Cripps Mission b. Non-Cooperation Movement
jii. Chauri Chaura Incident c. Civil Disobedience Movement

iv. Jallianwala Bagh Massacre d. Bowlatt Act

[Question ID = 18647]

1. i (d); ii (a); iii (b); iv (c) [Option ID = 44581]
2. i (c); ii (b); iii (a); iv (d) [Option ID = 44580]
3. i(c); ii (a); iii (b); iv (d) [Option ID = 44579]
4, i (d); ii (b); iii (a); iv (c) [Option ID = 44582]

Correct Answer :-
« i(c); ii (a);iii (b); iv (d) [Option ID = 44579]

47) Find the missing letters in the following series:
A, B,B,D,C,FD,H,E,? ? [Question ID = 18628]

1. 1, F [Option ID = 44503]
2. F, E [Option ID = 44506]
3. F, G [Option ID = 44504]
4, 1, F [Option ID = 44505]
Correct Answer :-

» ], F [Option ID = 44503]

48) Choose the correct sequence of Grand Slams as per a calendar year [Question ID = 18664]

1. French Open — Australian Open —Wimbledon Open — US Open [Option ID = 44649]
2. Australian Open — Wimbledon Open = French Open = US Open [Option ID = 44648]
3. Wimbledon Open — Australian Open = French Open = US Open [Option ID = 44650]
4. Australian Open — French Open — Wimbledon Open — US Open [Option 1D = 44647]

Correct Answer :-
» Australian Open - French Open — Wimbledon Open — US Open [Option ID = 44647]

49) The 123rd amendment of the Indian Constitution is related to . [Question ID = 18618]

1. Mental Health Bill, 2016 [Option ID = 44465]

2. GST Constitutional Amendment Act [Option ID = 44463]

3. Constitutional status of the commission for the backward classes [Option ID = 44466]
4, Maternity Benefit Amendment Bill 2016 [Option ID = 44464]

Correct Answer :-
« Constitutional status of the commission for the backward classes [Option ID = 44466]
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50) Pointing to a man, a lady told, his father is her mother’s uncle. How is the man related to the lady? [Question ID = 18629]

1. Cousin [Option ID = 44510]

2. Father [Option 1D = 44507]

3. Grandfather [Option ID = 44509]
4, Uncle [Option ID = 44508]

Correct Answer :-
» Uncle [Option ID = 44508]

51) Which of the following is not true about the Residuary List of the Indian constitution? [Question ID = 18641]

1. Only the Centre can make laws. [Option ID = 44555]
2. Only the State can make laws. [Option ID = 44556]

3. The President can make laws. [Option ID = 44558]

4., Both Centre and State make laws. [Option ID = 44557]

Correct Answer :-

52) Which of the following was setup to discuss, analyse and implement strategies for inclusive innovation in India and prepare a
Roadmap for Innovation 2010-2020? [Question ID = 18661]

1. Make in India [Option ID = 44635]

2. National Innovation Council [Option ID = 44637]
3. Smart India Hackathon [Option ID = 44638]

4, Startup India [Option ID = 44636]

Correct Answer :-
= National Innovation Council [Option ID = 44637]

53) Which of the following cities of India are taken into consideration while calculating the ‘ease of doing business index'? [Question ID
= 18680]

1. Mumbai only [Option ID = 44711]

2. Delhi and Mumbai only [Option ID = 44712]
3. Delhi only [Option ID = 44714]

4. Mumbai and Ahmedabad [Option ID = 44713]

Correct Answer :-
+ Delhi and Mumbai only [Option ID = 44712]

54) Which of the following is the correct sequence according to Islamic Calendar? [Question ID = 18669]

1. Eidul Adha - Ramzan - Eidul Fitr [Option ID = 44669]
2. Ramzan - Eidul Fitr - Eidul Adha [Option ID = 44667]
3. Ramzan - Eidul Adha - Eidul Fitr [Option ID = 44668]
4, Eidul Fitr - Ramzan - Eidul Adha [Option ID = 44670]

Correct Answer :-
= Ramzan - Eidul Fitr - Eidul Adha [Option ID = 44667]

55) Which of the following is not an ethical consideration in social science research? [Question ID = 18636]

1. Deception [Option ID = 44535]

2. Informed Consent [Option ID = 44537]

3. Voluntary participation [Option ID = 44538]
4, Right to withdraw [Option ID = 44536]

Correct Answer :-
+ Deception [Option ID = 44535]

56) Which of the following is not a form of social stratification? [Question ID = 18652]

1. Class [Option ID = 44599]

2. Gender [Option ID = 44602]
3. Caste [Option ID = 44601]

4, Religion [Option ID = 44600]

Correct Answer :-
= Religion [Option ID = 44600]
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57) Which of the following is not a Developmental Disorder? [Question ID = 18624]

1. Anti-Social Personality Disorder [Option ID = 44489]
2. Learning Disabilities [Option 1D = 44488]

3. Intellectual Disabilities [Option ID = 44490]

4, Autism Disorder [Option ID = 44487]

Correct Answer :-

58) Which of the following is not a land reform introduced by British India? [Question ID = 18646]

1. Permanent Settlement [Option 1D = 44576]
2. Mahalwari System [Option ID = 44578]

3. Ryotwari System [Option ID = 44577]

4. Doctrine of Lapse [Option ID = 44575]

Correct Answer :-
» Doctrine of Lapse [Option ID = 44575]

59) Which of the following is not a World Heritage Site under UNESCO's World Heritage Convention list? [Question ID = 18677]

1. Jantar Mantar, Jaipur [Option ID = 44701]
2. Jantar Mantar, Delhi [Option ID = 44702]
3. Elephanta Caves [Option ID = 44699]

4, Ajanta Caves [Option ID = 44700]

Correct Answer :-
= Jantar Mantar, Delhi [Option ID = 44702]

60) Which of the following state has the largest forest cover as per the latest Ministry of Environment and Forests (MoEF) data in India?
[Question ID = 18614]

1. Arunachal Pradesh [Option 1D = 44447]
2. Maharashtra [Option ID = 44448]

3. Kerala [Option ID = 44450]

4. Madhya Pradesh [Option ID = 44449]

Correct Answer :-
» Madhya Pradesh [Option ID = 44449]

61) Which of the following drink contains clinically proven anti-cancerous property? [Question ID = 18655]

1. Tea [Option ID = 44613]
2. Coffee [Option ID = 44611]
3. Milk [Option ID = 44612]
4. Beer [Option ID = 44614]

Correct Answer :-
= Tea [Option ID = 44613]

62) Which of the following statements is/are correct about National Green Tribunal (NGT)?
1. NGT was established for effective and expeditious disposal of cases relating to environmental protection.
2. Delhi is one of the places for sitting of the Tribunal. [Question ID = 18615]

. 1 Only [Option ID = 44451]

. Both 1 and 2 [Option ID = 44453]

. Neither 1 nor 2 [Option ID = 44454]
. 2 Only [Option ID = 44452]

o

Correct Answer :-
« Both 1 and 2 [Option ID = 44453]

63) Which of the following statements is/are true about environmental activist Prafulla Samantra?
I. Protecting the Niyamgiri Hills of Odisha from a massive, open-pit aluminum ore mine.
II. Winner of Goldman Prize 2017. [Question ID = 18616]

1. 2 only [Option ID = 44456]
2. 1 only [Option ID = 44455]
3. Both 1 and 2 [Option ID = 44457]

collegedunia:s

India’s largest Student Review Platform




4. Neither 1 nor 2 [Option ID = 44458]

Correct Answer :-
« Both 1 and 2 [Option ID = 44457]

64) Which of the following is not correct? [Question ID = 18673]

1. Shipki La is through the Satluj gorge. [Option ID = 44684]
2. Aghil Pass connects Ladakh with Tibet. [Option ID = 44683]
3. Zojila connects Srinagar with Ladakh. [Option 1D = 44686]
4. Rohtang Pass lies in Himachal Pradesh. [Option ID = 44685]

Correct Answer :-
= Aghil Pass connects Ladakh with Tibet. [Option ID = 44683]

65) Which of the following is not correctly matched? [Question ID = 18626]

1. Car Crash Experiment - Aggression [Option ID = 44498]

2. Eyewitness Testimony - Memory Experiments [Option ID = 44495]
3. Autokinetic Effect - Conformity Experiment [Option ID = 44496]
4. Bystander Effect - Helping Behaviour [Option ID = 44497]

Correct Answer ;-
» Car Crash Experiment - Aggression [Option ID = 44498]

66) Which of the following is the first Internet search engine? [Question ID = 18649]

1. Archie [Option ID = 44588]
2. Altavista [Option ID = 44590]
3. Google [Option ID = 44587]
4. Yahoo [Option 1D = 44589]

Correct Answer :-
= Archie [Option ID = 44588]

67) Which of the following data storage system can provide the maximum storage capacity? [Question ID = 18667]

1. DNA Digital Data Storage System [Option ID = 44662]
2. Magnetic Tapes System [Option ID = 44660]

3. Solid State Device [Option 1D = 44659]

4, Hard Drives [Option ID = 44661]

Correct Answer :-
= DNA Digital Data Storage System [Option ID = 44662]

68) Which of the following was added in the 42nd Constitutional Amendment of the Indian Constitution? [Question ID = 18640]

1. Directive Principles of the State Policy [Option 1D = 44552]

2. Panchayati Raj [Option ID = 44554]

3. Fundamental Duties [Option ID = 44553]

4, Reservation policy for the Other Backward Classes [Option ID = 44551]

Correct Answer :-
» Fundamental Duties [Option ID = 44553]

69) *.gif is an extension of . [Question ID = 18651]

1. Audio file [Option ID = 44596]
2. Word file [Option ID = 44597]
3. Image file [Option ID = 44598)
4. Video file [Option ID = 44595]

Correct Answer :-
= Image file [Option ID = 44598]

70) Good Friday is a festival commemorating the . [Question ID = 18670]

1. Birth of Jesus Christ [Option ID = 44674]
2. Crucification of Jesus Christ [Option ID = 44671]
3. Baptism of Jesus Christ [Option ID = 44673]

collegedunia:s

India’s largest Student Review Platform




4, Resurrection of Jesus Christ [Option ID = 44672

Correct Answer :-
» Crucification of Jesus Christ [Option ID = 44671]

71) You are preparing for a review of an educational institution to assess their accessibility in terms of inclusivity. You
ID = 18632]

. [Question

1. Take a look around the institution, take photos and publish them as proof. [Option ID = 44521]

2. Call up the administration and take a review over the phone. [Option ID = 44519]

3. Talk to all the stakeholders and then file a report with the appropriate authorities. [Option ID = 44522]
4, Talk to the students and write the review. [Option ID = 44520]

Correct Answer :-
» Talk to all the stakeholders and then file a report with the appropriate authorities. [Option ID = 44522]

72) Free movement regime is related to which of the following countries? [Question ID = 18637]

1. U.K. and Canada [Option ID = 44542]

2. U.5.A. and Mexico [Option ID = 44541]
3. India and Myanmar [Option ID = 44539]
4, China and Pakistan [Option ID = 44540]

Correct Answer :-
» India and Myanmar [Option ID = 44539]

73) Alaknanda and Mandakini make a confluence at . [Question ID = 18674]

1. Dev Prayag [Option ID = 44687]

2. Rudra Prayag [Option ID = 44689]
3. Karan Prayag [Option ID = 44688]
4. Vishnu Prayag [Option ID = 44690]

Correct Answer :-
= Rudra Prayag [Option ID = 44689]

74) The Particulate Matter (PM-10) inhaled from the polluted atmosphere is often filtered out during the process of .

[Question ID = 18612]

1. Vomiting [Option ID = 44440]
2. Coughing [Option ID = 44439]
3. Urination [Option ID = 44441]
4. Perspiration [Option 1D = 44442]

Correct Answer :-
= Coughing [Option ID = 44439]

75) As per the global Multidimensional Poverty Index (MPI), which of the following is not a component for calculating Human Poverty
Index? [Question ID = 18678]

1. Life Expectancy [Option ID = 44706]
2. Living Standards [Option ID = 44705]
3. Health [Option ID = 44703]

4, Education [Option ID = 44704]

Correct Answer :-
» Life Expectancy [Option ID = 44706]

Topic:- DU_J18_BA_HSS_English 25Qs

1) His downfall was brought about by fis powerful desire.
Replace the italicized words by

[Question ID = 18690]

1. no improvement. [Option 1D = 44754]
2. his intense desire. [Option ID = 44751]
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3. his fatal desire. [Option ID = 44753]
4. his desire for power. [Option ID = 44752]

Correct Answer :-
« his desire for power. [Option ID = 44752]

2) Passage 5

The concept of 'crestive society' refers to a phase of development of a society in which a large
number of potential contradictions become articulate and active. This is most evident when
oppressed social groups get politically mobilized and demand their rights. The upsurge of the
peasants and tribals, the movements for regional autonomy and self-determination, the
environmental movements, and the women's movements in the developing countries are signs of
emergence of creative society in contemporary times. The forms of social movements and their
intensity may vary from country to country and place to place within a country. But the very presence
of movements for social transformation in various spheres of a society indicates the emergence of a
creative society in a country.

The term ‘creative society’ implies [Question ID = 18706]

1. A society where art and literary writings are prevalent, [Option ID = 44817]

2. A society where social movements take place frequently, [Option ID = 44816]

3. A sodiety where social inequalities is a norm. [Option ID = 44815]

4. A society where disadvantaged groups of the society become aware of their rights & potential. [Option ID = 44818]

Correct Answer :-
= A society where disadvantaged groups of the society become aware of their rights & potential. [Option ID = 44818]

3) Passage 5

The concept of 'creative society' refers to a phase of development of a society in which a large
number of potential contradictions become articulate and active. This is most evident when
oppressed social groups get politically mobilized and demand their rights. The upsurge of the
peasants and tribals, the movements for regional autonomy and self-determination, the
environmental movements, and the women's movements in the developing countries are signs of
emergence of creative society in contemporary times. The forms of social movements and their
intensity may vary from country to country and place to place within a country. But the very presence
of movements for social transformation in various spheres of a society indicates the emergence of a
creative society in a country.

Consider the following statements.

1. Social movements are essential for a creative society.

2. Contradiction and conflicts will always lead to creative society.

Which of the statement/s given above is/are correct? [Question ID = 18707]

1. 2 only [Option ID = 44820]

2. 1 only [Option ID = 44819]

3. Both 1 & 2 [Option ID = 44821]

4. Neither 1 nor 2 [Option ID = 44822]

Correct Answer :-

= 1 only [Option ID = 44819]

4)
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According to the Voice, the greatest blot on Hindu society and history was

Paszage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political gndeavar. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the aobjectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

[Question ID = 18697]

1. Poor people not receiving special attention. [Option 1D = 44779]

2. Poor living standard of people living in the villages [Option ID = 44780]
3. Not allowing the Harijans to enter temples. [Option ID = 44782]

4. Denial of human rights to the depressed class. [Option ID = 44781]

Correct Answer :-
» Denial of human rights to the depressed class. [Option ID = 44781]

5)

collegedunia:

India’s largest Student Review Platform



Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political gndeavar. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the aobjectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. it caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The sins of omission and of commission has been committed by .

[Question ID = 18699]

1. Politics [Option ID = 44789]
2. The Voice [Option ID = 44790]

3. The poor people [Option ID = 44787]
4. The Government [Option 1D = 44788]

Correct Answer :-
+ The Government [Option ID = 44788]
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The main concern of politics and politicians should be

Paszage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political gndeavar. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the aobjectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. it caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

[Question ID = 18698]

1. to give jobs to the people. [Option ID = 44784]

2. to improve the living conditions of the poor. [Option ID = 44785]

3. to ensure the Government implements policies well, [Option ID = 44786]
4. to ensure that people pay taxes. [Option ID = 44783]

Correct Answer :-
= to improve the living conditions of the poor. [Option ID = 44785]

7)
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Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political gndeavar. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the aobjectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. it caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The Voice had to be listened to because [Question ID = 18695]

1. it made people aware of untouchability. [Option ID = 44774]
2. it gave a message of importance. [Option ID = 44773]

3. it gave an inspiring speech. [Option ID = 44771]

4. it gave us ideas on how to do politics. [Option ID = 44772]

Correct Answer :-
» it gave a message of importance. [Option ID = 44773]
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Passage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political gndeavar. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the objectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. it caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

The Voice is [Question ID = 18694]

1. Pt. Jawaharlal Nehru [Option ID = 44767]
2. Ruthnasami [Option ID = 44769]

3. Raja Ram Mohan Roy [Option ID = 44768]
4. Mahatma Gandhi [Option ID = 44770]

Correct Answer :-
+ Mahatma Gandhi [Option ID = 44770]
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Which of the following is not an objective of the Government or political organization? [Question ID = 18696]

Paszage 3

The Voice has to be listened to, not only on account of its form but for the matter which it delivered.
It gave a message to the country that it needed greatly. It brought to the common people a realization
of their duty to concern themselves with their affairs. The common people were made to take an
interest in the manner in which they were governed in the taxes they paid in the return they got from
those taxes. This interest in public affairs — politics as you may call it — was to be the concern no
longer of the highly educated few of the many — the poor, the propertyless, the working men in town
and country. Politics was not to be the concern of a small aristocracy of intellect or property of the
masses. And with the change in the subjects of politics had busied itself mainly with the machinery of
Government towards making its personnel more and more native, with proposals for a better
distribution of political power, with protests against the sins of omissions and of commizssions of the
administration. This Voice switched politics on to concern for the needs of the common people. The
improvement of the lot of the poor was to be the main concern of politics and the politician. The
improvement, especially of the lives of the people of the neglected villages, was to be placed before
Governments and political organizations as the goal of all political endeaver. The raising of the
standard of living of the people of the villages, the finding of subsidiary occupations which would give
the agricultural poor work for their enforced leisure during the off season, an addition to their
exiguous income, the improvement of the housing of the poor, the sanitation of the villages — these
were to be the aobjectives to be kept in mind.

There was especially a class of the poor for which that compassionate Voice pleaded and protested —
the zo-called depressed class, the outcasts of Hindu society. The denial of elementary human rights to
this class of people is considered the greatest blot on Hindu society and history. It raised itself in
passionate protest against the age-old wrongs of this class and forced those that listened to it to
endeavor to remove the most outrageous of them like untouchability. It caused a revolution in Hindu
religious practice by having Hindu by having Hindu temples thrown open to these people. it made the
care of them a religious duty of the Hindus by re-naming them Harijan.
Mr. Ruthnasami

1. Clean environment [Option ID = 44777]

2P
3. P

roviding alternative opportunities for better sustenance [Option ID = 44776]
roviding housing for the urban people [Option ID = 44778]

4. Improving the living conditions of the poor people [Option ID = 44775]

Cor
. P

10)

rect Answer :-
roviding housing for the urban people [Option ID = 44778]

Find the correct sequence for the sentence given below.

had
of
we
him
heard

i ot o

[Question ID = 18689]

1.2

3135 [Option ID = 44750]

2. 24315 [Option ID = 44747

3.3

1524 [Option ID = 44748]

4. 13524 [Option ID = 44749]

Cor
« 3

11)

rect Answer :-
1524 [Option ID = 44748]

Passage 2

The great advantage of earlv rising is the good start it gives us in our dav’s work. The
earlv riser has done a large amount of hard work before other men have got out of
bed. In the earlv moming, the mind is fresh and there are few sounds or other
distractions so that work done at that time is generallv well done. In many cases, the
earlv riser also finds time to take some exercise in the fresh moming air, and this
exercise supplies him with a fund of energv that will last until evening.
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Which among the following is the most logical corollary to the above passage? [Question ID = 18693]

1. Healthy habits ensure healthy lifestyle. [Option ID = 44766]
2. Exercising in the morning gives energy. [Option ID = 44765]
3. Working in the morning hours ensures good work. [Option ID = 44764
4, Hard working man wakes up early in the morning. [Option ID = 44763]

Correct Answer ;-
» Hard working man wakes up early in the morning. [Option ID = 44763]

Passage — 1

Parents can play a vital role in shaping children’s attitudes to television. Studies have
shown that in families where parents watch television with their children and explain
what is happening on the screen and draw the distinction between real and
fictionalized events, children leam more positive information from TV than those
children who are left to negotiate television and its messages alone. Sharing television
with their children gives parents the opportunity to make them aware of how TV
programming comes into existence and to explain that there are people and real faces
behind the screen like puppeteers holding the strings of marionettes.

Another area of concem is the nature of a child’s exposure to the media. Studies
confirm the fact that children watch a great deal of television, particularly Hindi films
and adult programming. In this respect, action must be taken at different levels; first
the entire programme structure of Doordarshan s channels should be overhauled so
that schedules include good qualitv children’s TV programmes and that children
prime time is free of retrograde adult programming. Second is parental intervention.
Parents should be careful not to employ the TV set as a baby-sitter for their children.
For a start, parents should discourage watching TV during mealtimes.

To ensure appropriate television viewing, parents should . [Question ID = 18691]

1. choose the content for the children [Option ID = 44756]

2. give rational appraisal of the content being watched [Option ID = 44758]
3. discourage watching TV during mealtimes [Option ID = 44757]

4, watch television with their children [Option ID = 44755]

Correct Answer :-

= give rational appraisal of the content being watched [Option ID = 44758]

13)
Passage — 1

Parents can plav a vital role in shaping children’s attitudes to television. Studies have
shown that in families where parents watch television with their children and explain
what is happening on the screen and draw the distinction between real and
fictionalized events, children leamm more positive information from TV than those
children who are left to negotiate television and its messages alone. Sharing television
with their children gives parents the opportunity to make them aware of how TV
programming comes into existence and to explain that there are people and real faces
behind the screen like puppeteers holding the strings of marionettes.

Another area of concemn is the nature of a child’s exposure to the media. Studies
confirm the fact that children watch a great deal of television, particularly Hindi films
and adult programming. In this respect, action must be taken at different levels; first
the entire programme structure of Doordarshan's channels should be overhauled so
that schedules include good quality children’s TV programmes and that children
prime time is free of retrograde adult programming. Second is parental intervention.
Parents should be careful not to employ the TV set as a baby-sitter for their children.
For a start, parents should discourage watching TV during mealtimes.
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What could be an appropriate title for the above given passage? [Question ID = 18692]

1. Managing children’s watching TV [Option ID = 44762]

2. Parental Responsibility of TV Watching among Children [Option ID = 44759]
3. Impact of Television on Children [Option ID = 44761]

4, Negative Content of Television Programme [Option ID = 44760]

Correct Answer :-
» Impact of Television on Children [Option ID = 44761]

Pazsage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which yvou would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hos=tility =ooner than pique or
resentment or complaint. | thought you were disposed to criticize the dresz of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Never despise anyone for anything that he
cannot help,” | might have said, “Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

This kind of writing is called . [Question ID = 18700]

1. Letter [Option ID = 44793]
2. Speech [Option ID = 44791]
3. Diary [Option ID = 44792]
4, Sermon [Option ID = 44794]

Correct Answer :-
= Letter [Option ID = 44793]

15)

collegedunia:

India’s largest Student Review Platform



Paszage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. it is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pique or

resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the

world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of wulgar prejudices. Instead of saying above “Never despise anyone for anything that he
cannot help,” | might have said, "Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of ancther.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something elzse to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

This letter is written by a toa

william Hazlitt

. [Question ID = 18701]

1. father, son [Option ID = 44795]

2. sister, brother [Option ID = 44798]
3. friend, friend [Option ID = 44797]

4. mentor, student [Option ID = 44796]

Correct Answer :-

16)

« father, son [Option ID = 44795]

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourseif against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the fault= when you see in them. This will disarm their hostility =ooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mever despise anyone for anything that he
cannot help,” | might have said, “Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigeer and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

According to the author, one should not harbor a prejudice against others because [Question ID = 18702]

1. One should not make assumptions before knowing them fully. [Option ID = 44800]
2. They may also behave ill later. [Option ID = 44802]

3. Tt is bad reasoning. [Option ID = 44799]

4, They are strangers. [Option ID = 44801]

Correct Answer :-
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= One should not make assumptions before knowing them fully. [Option ID = 44800]

"Contempt implies a triumph over and pleasure in the ill of another.” What is implied by this statement? [Question ID = 18704]

Paszape 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reasoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility sooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence agasinst the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above "Never despise anyone for anything that he
cannot help,” | might have said, “Never despise anyone at all”"; for contempt implies a triumph over
and pleasure in the ill of another,

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have zomething else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

1. Celebrating or feeling happy over other's misfortunes. [Option ID = 44807]
2. Settling differences amicably with them. [Option ID = 44810]

3. Not despising anyone at all. [Option ID = 44809]

4. Ignoring mistakes made by others. [Option ID = 44808]

Correct Answer :-

18)

= Celebrating or feeling happy over other’s misfortunes. [Option ID = 44807]

Paszape 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It is bad reazoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the fault= when you see in them. This will disarm their hostility =ooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mever despizse anyone for anything that he
cannot help,” | might have said, “Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

One of the following is not an advice given by the writer to reduce the hostility of strangers. [Question ID = 18703]

1. Not to judge according to their appearances. [Option 1D = 44806]
2. Not to despise anyone for their poverty. [Option ID = 44805]
3. Not conceive a prejudice against them. [Option ID = 44803]
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4, Acknowledge their faults. [Option ID = 44804]

Correct Answer :-
» Acknowledge their faults. [Option ID = 44804]

19)

Passage 4

You seemed at first to take no notice of your school friends, or rather to set yourself against them as
they were strangers to you. They knew as little of you as you did of them; so that this would have
been reason for their keeping aloof from you as well, which you would have felt as a hardship. Learn
never to conceive a prejudice against other because you know nothing of them. It iz bad reazoning,
and makes enemies of half the world. Do not think ill of them till they behave ill to you; and then
strive to avoid the faults when you see in them. This will disarm their hostility =ooner than pique or
resentment or complaint. | thought you were disposed to criticize the dress of some of the boys as
not as good as your own. Never despise anyone for anything that he cannot help — least of all, for his
poverty. | would wish you to keep up appearances yourself as a defence against the idle sneers of the
world, but | would not have you value yourself upon them. | hope you will neither be the dupe nor
victim of vulgar prejudices. Instead of saying above “Mever despise anyone for anything that he
cannot help,” | might have said, “Never despise anyone at all”; for contempt implies a triumph over
and pleasure in the ill of another.

You have hitherto been a spoilt child, and have been used to have your own way a good deal, both in
the house and among your playfellows, with whom you were too fond of being a leader; but you have
good nature and good sense, and will get the better of this time. You have now got among other boys
who are your equals, or bigger and stronger than yourself and who have something else to attend to
besides humaoring your whims and fancies. But the first lesson to learn is that there are people in the
world besides yourself. True equality is the only true morality or wisdom.

William Hazlitt

What instruction is being given when the writer uses the words, “to be the dupe or victim of vulgar prejudices.”
[Question ID = 18705]

1. To avoid being an oppressor or tolerate negative ideas of others. [Option ID = 44813]
2. To keep up a false appearance. [Option ID = 44811]

3. To behave like equals. [Option ID = 44812]

4. To have good nature and sense. [Option ID = 44814]

Correct Answer :-
= To avoid being an oppressor or tolerate negative ideas of others. [Option ID = 44813]

20) @ (b) (© (d)
He has told me that he saw my uncle at the exhibition on last Friday

Indicate the parts of the sentence that contains errors.
[Question ID = 18685]

1. a & d [Option ID = 44733]
2. a & c [Option ID = 44734]
3. b &d [Option ID = 44732]
4. a & b [Option ID = 44731]

Correct Answer :-
+ a&d [Option ID = 44733]

21) Mary: John has become calm since he started meditation.
Nita: Not possible. Keeping quite is the reason for his calmness.
Mary's statement reflects her belief that . [Question ID = 18683]

1. Meditation tends to make a person calm. [Option ID = 44724]

2. John would not have been meditating had he been calm. [Option ID = 44726]
3. John was a talkative person who was also not calm. [Option ID = 44725]

4, All people who are not calm should meditate, [Option ID = 44723]

Correct Answer :-
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= Meditation tends to make a person calm. [Option ID = 44724

22) Nobody answered it, ? [Question ID = 18686]

1. did he [Option ID = 44735]

2. did they [Option ID = 44737]
3. didn't they [Option ID = 44738]
4. didn't [Option ID = 44736]

Correct Answer :-
+ did they [Option ID = 44737]

23) Select the odd one from the following words. [Question ID = 18684]

1. Pithy [Option ID = 44727]

2. Laconic [Option ID = 44728]
3. Ingenuity [Option ID = 44729]
4, Forceful [Option ID = 44730]

Correct Answer :-
= Ingenuity [Option ID = 44729]

24) The meaning of the idiom gall and wormwood is
[Question ID = 18687]

1. Boil with emotions [Option ID = 44741]

2. Feelings of disappointment and dejection [Option ID = 44742]
3. Feelings of bitterness and resentment [Option ID = 44740]

4, Flame with anger [Option ID = 44739]

Correct Answer :-

= Feelings of bitterness and resentment [Option ID = 44740]
25) The meaning of the idiom, to a nicety is

[Question ID = 18688]

1. Excellent [Option ID = 44743]
2. Pleasant [Option ID = 44745]
3. Exactly [Option ID = 44744]

4. Delicate [Option ID = 44746]

Correct Answer :-

« Exactly [Option ID = 44744]

Topic:- DU_J18_BA_HSS_Hindi_25Qs

1)
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AT § @l & AT ST ATGTLAT 14T 2, 8 2-2re TISaFH J ATALh A a & 97
THET AN T4 FA=maat | oy & 3979 F F100 @aFs T 2% (HAT-Fa19 I 7T T
ERLEIEI]

THE AATAT A ATAG] KT A9G AL IHS AT S BATH & HILOT A1 & ITH AL
% frq @ T H1E ah ST af Agl df 39 431 & €9 F AYA &l AT9 91 BIGT 5L Bl IS 2
TH A4g WTLT9E AaoqTH 27 @i | & T afer 92 AT 2

AL, AT 9L I AT A7 2 1% @1 A FG 2T AT 21aT g A< 3949 =g
HTHL Aol (Hed| TATAQ IFT 6T T2 G ST =4 H] 2419 STAT AT 3, 9 o @Al | IAHT
= 1 T 3aH ST FIawT gl ATiH IdH SA1a A eq1idod ez (&a1 71 a|

AL, Tl F HEWTd BIG! g A< AT aga 9211 984l gl 99 L€ 4 gf e,
GEATS o AL AT S8 Gl & T AL A6 F ATHHT 21d g 7 @al B A11=41 5
HATIE Hd Lo AL 3% A19 52 719 AL Al JrEgi=r, ar-ar a1 drZmsl 949 a7 a4 &l
RIEEEECE]

=14, =T i Iu-a9 @1 § @ U1 i Awretagl & 4 F Fuagi &
o st a2 T aHET QRT 2T AT 21 G w9 AT AE TS AT e SR | 21 2l 2l

ui=d, @ § giErar ¥ e ard Faer 7 srasawar 2 21 T FaA AwSHr F vdeT
U & [ AT @ BT glal g, 1 @ A1, Ures A< Al 9% (% 1S AL b (¢
T 9T @ & TELT 2l 2l

ST A1 T 9T | @l 6 3UET T STl @I g AL A d A graa ua s &9 4
HUFTET ST |

UIRd | Wl B 7 U o1 & 7 7 | -5 F SR §?

1@ & siaw &t afAfiaar

2.9d! # HgHTayef vagr

3.9 & wikreror g Wl fFaw

4.forat 7 Iu-Tdy &= A @ a9 srerefiral @t sifirear [Question ID = 18713]

1. 9l [Option ID = 44846]

2.1, 2, 3 [Option ID = 44844]
3. 2, 3, 4 [Option ID = 44845)
4. 1, 2, 4 [Option ID = 44843]

Correct Answer :-
« 1,2, 3 [Option ID = 44844)
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AT F G & JTHT AT ATGTIHT 14971 2, T8 o-2ve 159w 9 A raafa s s d
THET FET T fa=m=ay 7 frar ¥ 3973 & F0 9% T 2 49% aT-5a19 T AT F1
ERLEIEI]

THE AATAT A ATAG] KT A9G AL IHS AT S BATH & HILOT A1 & ITH AL
% T @l T H1E a<h =T &l Agl df 34 991 & € H AU Bl a79 a7 BI6I 3L 61 HIST g
TH A4g WTLT9E AaoqTH 27 @i | & T afer 92 AT 2

AL, ATHAIL 9L 9 HAET A1GT 2 % G4 6 FRI< a2 AT gar g i 374 5=
HATL LT (A TATAC IGT 6T T2 T ST 2 FT 3419 STAT AT 2, T of @Al 7 SqhT
= 1 T 3aH ST FIawT gl ATiH IdH SA1a A eq1idod ez (&a1 71 a|

AL, Tl F HEWTd BIG! g A< AT aga 9211 984l gl 99 L€ 4 gf e,
GEATS o AL AT S8 Gl & T AL A6 F ATHHT 21d g 7 @al B A11=41 5
HATIF FA LA AL 3% ATF 92 A1 AL T (A=, TTEHIST, GI-GT AT LT o8 AF el
RIEEEECE]

=19, T S SU-Aw09 @41 F @ 9T AL A AT 6 FH F FIUAG F
o st a2 T aHET QRT 2T AT 21 G w9 AT AE TS AT e SR | 21 2l 2l

ui=d, @l | SFar & fog qrdd Fae 7 Arasa®war 2T 21 T Faa AREH F 549
U & [ AT @ BT glal g, 1 @ A1, Ures A< Al 9% (% 1S AL b (¢
T 9T @ & TELT 2l 2l

ST A1 T 9T | @l 6 3UET T STl @I g AL A d A graa ua s &9 4
HUFTET ST

T B F1g fug-avg §: [Question ID = 18712]

1. f21&11 1 <&Td [Option ID = 44842]

2. Wd WPl BT S{HTd [Option ID = 44839]

3. W W3Hfa &1 fAEM [Option ID = 44840]

4. @i & Uld HgHTE Yol 3341 [Option ID = 44841]

Correct Answer :-
. Hdl & Ui YgHTd guf 44T [Option ID = 44841]

3)  qEA F FET F G A AGAT I £, A2 23w TISTFA J AT TS FETTH
THET AT T4 fE=meat 7 o & 2973 & F0 @9Fe T 2% ar-FarT AT F17
ERLEIEIN]

THE AATAT A ATAG] KT TG AL IAD A1 L9 GATH & HILOT A1 & ITH AL
% TorT Go 7 H12 a<h a9aT ol Agl a7 34 31 & &7 F AYATT bl aTd 9T BIGT 5L B FIET 2
TH T WIS ATEATH g1 @l d &4 6l it 98 AT g

ZHL, AFAIL 9L 98 AT A197 ¢ % @i 4 Fhgc a2y 9T gar g i o=
HITL Aol (9ad| TATOT IFT T T2 92 19 =9 FT 919 STAT AT, T ol el A 9l
== 21 AT 30H FeA=1T T 21 1% 3695 sAra= o eqrfaey gt Earsm o)

AL, Tl F HEWTd D16l g A< AT Tga J@1 T840 g| 99 L€ 9 of e,
GeaTSd AL A S8 DT & TAL AL A6 F AT 219 g1 T @l & 41 F
HATUE: Hd Lo AL 3% A19 2 719 AL qafg, FrEFi=r, ar-ar a1 ==l 949 F7 a4 &
Ui gIg 292

=T, TS oS- @1 | @« U i Awreiaal §T 541 F 0 agi 5
o =t a2 T FHET QR ET ST 21 G w0 oY TS AT e qEee | 2 2t ol

uf=d, @« | gfovar F forg ardf Fas 7 arasawar Zrdr 21 T Fa AHEHr § 5497
e % g 9T @ T AT g, aTTaw ared, g A agl 9% & fEE g # 9y
T 9T @ & TELT Il gl

ST AT AT | @l 6 IUET $T AT I g AL AT A AL g ga I s &0 4
HUFTET 14|

fipdpe, Peara o Tl & 3 g1 & RO § ¥ 3T ST 999 $Y [Question ID = 18714]

collegedunia:

India’s largest Student Review Platform

~

T




1. HrHIferas YT &1 8T [Option ID = 44850]
2. Y- @1 Ul [Option ID = 44849)

3. 319 el 81 [Option ID = 44848]

4, IHT 8141 [Option ID = 44847]

Correct Answer :-

4)

Ao god B & Afge SHREN gRT €101 741 8, IUH o B8 & 3TdT1 82 [Question ID = 18716]

AfgwTasT e § ST s T@as a7 Agcaqn FiF F1 F14 F4T 21 T & erw vy #et 7
‘AT TS T HT AT FT ME F |

A ST ATHAT & ATAR AEATE ATAT SIE-BIET TIAT & T BT HT (47197 HLAT
£ TUT AGSTHAT T TC 5T BT & T TTH L ATAT ATGE TG (9a1 51 awrdl gl 4 99
AREF T 4 I9H T AT F9 E O 3 7 wd Frew #) smmorE oy, Faw e
FFE IS A B U e m A w2 e amuE § e i g
7 fad ot Ooft & afe 709 € afer =8 sfearat & serfdar avar o fREw St amard

ATEATAHAT A1 g £ (6 ATHIT A EwTa FT THE & (o1 Q ALHTC AT AC-ACHTE HASAT
g ft aga A S SwE o @ T aeE & geradr e S o
FTIOT S TG AT ATHT AT AT A% A2 959 GTd 2| T2 Aiger guvE a9
HIET TUATIT T ATH% ST F (a1 g T A% & FI1E T8 AT FILars a% drd1 984
2 T9T F AT HETTIAaT & q16a o A AT (G®Id bl a7 HLd g1 A gal ATATEAT F 12
AT IS ® g7, TR, IS T AEN VS st & (AW gl o gigera
NI ATATATT 7 IET AATAEGT ¥ Fawrw F ardror giEwrHt ¥ gerfwor F giEwr
HTHTEAT T ¥ Y919 (Z@rE 297 21 § 59 UL AF A aaTa § A9+41 aTd F2a1 8, 399 9
W TET 5 9 HET 8 B T A0 FL A 8, FA GG AT & €T § & Fobed 0 &
Fatlg =& )

FIAT AETFG F AFAATIAF ST F AT BIOF FAA H O R E LT
AT (9T a Tareed & U ®Td F07 & ATg-a7g AGE H9 F A9 B AT EF s@AaT
HIATIE A Gl o B! &, AL AE 99 &1 g1 § A gaT ATH16AT1 § 3% A51a & HIL0|

-

Zrm

1. 5 ¥R g [Option ID = 44855]

2. W4 $! BICI-BIC 590 9 U0 TSR g [Option 1D = 44857)
3. WY B! BI¢I-BI¢ 99 9 YT IS §RT [Option ID = 44856]
4. Iudied § 9 SIS 7T [Option ID = 44858]

Correct Answer :-

5)

~

T

« 3T @d BT [Option ID = 44848)

« WY B BIT-BIE d9d 9 Yrad! IS §RT [Option 1D = 44856]
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wigeT qerrEor § s marasad 92 v ¥OF F 79 FAT 2| Th & e ary dut F
‘giEeTeETET frama |

I ST AT & ATa= AZATC AGAT SIE-BIET THAl F T F1G FT (47107 FLAT
£ TAT ATASTHAT TEA TCGH FIT & 0 NTH FC AT A afafafarat § swrdr g 8@
ATR® T A TUW T AT F0 6 G g 1 FE AT TS ) T & (9, FArara (et
TRt A e H I S amm et 2 S oo f e i 7
7 T A9 doft F afe; 779 € afe® 79 ATZATH 0l I (HGT AT & [a@H 91 a1 2|

areafasar a1 98 £ (& arfror afgerat & serd # o awe 7ar fea@wrd dueat
T ofT FE T AT T FETE AT G 2| T AT F AT 9T (Faraa i N g &
FTLO) TG AT GTHTR I HIEAT 9% AET 72T AT 21 TET FiEAT gHTer 99
HAGA ITATAT @ ATHF S[THF FT (a1 F A% 2 #9115 STH T AILATH a5 H16T I8
£ TAT A HigAT AEHTIaT & HT6aH o Higal |4%1H ] a1 FLd gl Tl gal ATHIEAT 4 2
AT TR F g7, TR IS @ A E s st F (aIaw gt 6 qigwra
SO ATATATT 7 IAET AATATGAT & AFATEA T ATHIOT HIZATH F Fer=pEr F grEET
HTHTEAT FT T Y917 (Z@7E 397 21 & 99 UL AE AHPITHE AUAT a7 FZA1 8, T9H F
T AT 5 T BT 8 T T S T ;T d=rad WA €7 F 7 qiea giwr
EEICEASEik-{

AIAT FAETAAT HT AEAATIAT AATAT FL AT (AT0F FaeaT 5 FT O I E LT
qiger forara saree % forQ#rd &3 & ara-ary Aria® w9 &1 [Hafr scarEs utiar
HIA DY A dfg o SN 2, AT 99 T ¢ Hga | ATHIGAT § 3% AE1a & H10T|

gt adqTa F gigar & Radr ava & 713 77 728 FT0 F T8, gurEan & ey
2|

T #1 By fAvg-a¥g 8: [Question ID = 18715]

1. Afgen gufdaso & Ao § nfife w@ase [Option ID = 44852]
2, ufgen g [Option ID = 44854)

3. 3 e gRT Higar T=faki@or [Option ID = 44853]

4, i W@awad [Option ID = 44851]

Correct Answer :-

. Hfgen gufdasio & Aed 4 anfife TW@aeed [Option ID = 44852]

6
) aigaT AT ¥ ATAF @Taa a7 Hgca 0 oF & F4 FLaT ¢l TH1 & g ary 791 7
‘gigeT g Frw & grET H g E

I HTHT ATHAT & ATAR AEATE ATAT SIE-SIET TdT H G FIT HT (47197 HLAT
# TIT ATFTEAT TEA TCITH FIG F FOT NTH FC ATAT ATGF Traraigar s Fwrdi g1 &7
AREF FY F I9H T A FOE 5 3 7 wd Frew #) meor oy, Few e
U AT A F A FE gmg w A adw e amaE § e aE ¥
7 koot Ooft 7 afe 700 € afew wd sfgerat & sorfar avar o faww St dard

aTedtamar ar ag g & arfror afgerst & ser & oo g 79 -9 @At
aTr ofT agT AT FrTE FAE AT W gl Thg A & weraar Eray S i w
FTL0T FEategT giagT AraTg Iy AT A% TE 0EF 9T 21 7 Afer anver 4
HET IUATT T ATHE ST F (Ha1g BC A5 & F1 16 95 TIH 9T AILars a% ard1 98
€ T9T d HigaT AZTTI9aT & AT64H o I gl (A%6 & a7 HLd gl HigwT ATHSAT § 72
AT TGS & g7, THNE I SIS @ SEG RS swts & (G w iG] & gigena
WA ATATATT & TAET AATATHAT F HEAHA F ATHIT TIEATH & ATIHECT F AZAT
HTHTEAT FT ©7Y Y919 (Z@TE 297 21 9 59 U ATFC A Ta=dTa § Aq+41 aTd Fga1 8, 399 9
T TET 5 9 T 8 B T S0 B A o, A9 GATa A1 & €T § & qod o0 o
Fatg Fx = )

FIAT AETAAT B AFAATIAT A9 TAT FL AT (A9 wdeal w A g @ L1
AT (9T e Fared & U Ed F7 F ATg-a79 ACAE H9 H5 A9 B AT EF s@Aar
HIA DG gfg 51 T 8, ACAE 99 &1 g1 ¢ A ga T ATHT6AT1 6 314 514 & HIL0|

gt% adaTa F Aigarat & Badr ava &7 77 7 78 T4 T ARL, FAFECTF 9T

Zrm|

anfife wy # afE I & GRT HT €T 8: [Question ID = 18717]

~

T
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1. THfe® I [Option ID = 44862]

2. ¥R d Urgfeds I [Option 1D = 44861]
3. WHR G ¥4 P I [Option 1D = 44860]
4, T4 $ I [Option ID = 44859]

Correct Answer :-

- TWEF IAMHGT [Option ID = 44862]

7) ‘Fedrser sdEd fordl ¢ Y= & TAT § GF § HASeAT TTaATcHs 590 &1 36T 14T

2l

T T X &= f agt ara & A, g ar fia ¥ avs e e snfa A
T NHEE 7 IF E AT 791 # 21 5w=E forad £ g Fr qrEar F fRerdrm a2
T Ty arar 1 39 @9 3 9L AT @9 F UF f A1 [ AL F gl 99 E G 9% 0F
ATILATE BT T 2, 30 [ o 5 F 77 @9ar € 93 #1E vers 721 a5 AL Aqa s ag
£ U =T FaTdt % g aTE 3 ave 9gd W 957 g £
FCAATH A AT AT g A% ATA | GTCAAGT SFL 2 A%l (a9 F gICH IT1 FIA9me
STET AT T2l 2141 2, Tal A A1 % 77 § 37 UF (aars 57 @y 1 7o 2 a1 g w
ST &7 F7 ST TEATdT 2]

farord} fRaTS) ot Ba-w T i THITRT B 8 @ SiX SR $Xd 82 [Question ID = 18719]

1. faSTg 1 T &1 9T [Option ID = 44867]

2. 3T B8 &1 [Option ID = 44868]

3. §TAT S HIG I8 €T [Option 1D = 44870]
4, Vifa@ar § & W [Option ID = 44869]

Correct Answer :-
- 39/ &1 T 8 ST [Option ID = 44867)

8) firedt ¥ sfrdwa fordt g 9=z &7 FgT+T § GF & HSEAT WTaAToHE 59 F1 IHLT 747

!

T war H g agt araar 34 @, g ar A9 ¥ avs fEendtrw safe vAr vty
TSR T FE A AT F gt 3 e e E A e ey a2
fo e arar o 38 @9 F aEET AT @9 F UF © A9 AL AL a9 210G 7% 0F
TG Al 99 % SAL #1910 34 2 %41 g7 T4 AME I ¢ da J AT ATd & A5
FATILATE T 2, 30 EA A % F 77 @9ar € 7% FE verE 76 999 AL wa g ey
2 U ST FawTET ®r 9T ITE 39 ave 9gd 9eE 957 A )

FCATATHH TN AT ¢ AT1 % ATAT ST HAGT CHL = Ab| (a7 J gTCH ITAT T A9 F T
o &7 & ST aEATET 2

T B FEg fug-avg §: [Question ID = 18718]

1. Wd & HIGTTeI® Ugq H eR 9ild &1 Uge [Option ID = 44866)
2. BR iid &1 §g [Option ID = 44863]

3. Wd H eI [Option ID = 44865]

4, YIaTd® ¥4 ¥ 81 Siid [Option ID = 44864]

Correct Answer :-

« W § GEHTFTET [Option ID = 44865]

9)

~

T

collegedunia:
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TP IdTE IU 0 1 U1 HfE U T F U6 G T o, orw R ymwuE, 91, 999 T
% fore fvan o 81 i © sl cowme Rl e Fwifes id gl

ST TR AT S[EST TAATAT SATIA T A 1600 SHAT F F7 47) IH S0 THRT Te0aT S SaET
T E TF oy s few o gm o TR TR #7 SR AT 21 T AT F iy A gy W i
faffaT sarae 1 ©F graa qrEdT T AT T AT F 954 & AT9-A79 TR ST F 56T 9T,
AT, AT T T & T o ety F 5w, g £ arey = ot F it & & adn
ATETT # TAATHAT IAHAST F FUAC H qEIH FIA S THEE I §1 OF 9E 97 € 79

AT SR CIARI A9 A L2497 F1 UF RIE F FqATT, A7 a99 AT oA g e g5 G
THETE ITATE B SHU T T FT #) NI # 99 ¥ T5ETE T AT ® 9T THEE, 9, §ET e, 1.9
=T anie (B & dodw &7 oag weome Far et 8), F o9 & o gug= o0g #7897 g g neat F
e ST § & gy T ¥ 3000 F wfew W wnt g € Be w20t € R fuege wrEegmn

4

S & FIAFICR TAE GEI FLA AT & AT LT THE 51 a0 THEF SN 3-11 A FIF FIA
gU T B g &1 THET gvET-ar a1 A s BT €, FitE gua S8 w0 a7 =i & i F off
TETE % GO & FTO07 GUIH FO7 G700 sAFd T #i1 T0g AL & F5 g 17 gl T0% F1407 59 g0 & farwme st #r
B=T TRT, TEET FT ¥ may 73 wr s = g, ot £ ford, wET o awey afgy w2 ffot greawft
£ ELETH GEIE & 40 FT BrEIC g 9T A6 BRET & FOT, §od O @ 7 AT E @I 18 WEH § #5 I
FTet ag AT g e it w1 e gy 9 v § waw gEe grawr ad (e HRav i Rond-2010%
HEATT WILT # 32 9 WIAAT 67 ST 18 4 ST WiEeTd gua= 74 ¥ 49T 7 ) TH 26 WAAT qAqCH
STITET JUAF TETE F7TA99 FCAT ) WA 47 SrHS a9 (srareered) 2249, 2000 Fare s ar 128
ST qaT (7E%-16 .2 Ty, wEfiwt-7.2 siter) frm ¥ ey maTg gt s sorne 5 )

THETE 1 £190 TE § SHAT J99 5€ GHAT | Tg THTE & oA 019 &1 UHh AL (A f7g w7 % g
gy o o g d P sv e S am e g e areE e F dEa E et
ST ST fTE 9 TTTE F TEH I 9 # TATE § WO STHEIE G ST TF SATE ST 4T E
e Fr fimet # 10 9feT 7% F 7590 T T 4 9T v, FAw = gt S Fwawaw anit &
TOET 99 ¥ TEAT 2

URd § T8 aTg St IR=ATE 50 2 & Fmamiedt 3 B1? [Question ID = 18710]

1. TR [Option ID = 44831]

2. MY [Option ID = 44832]
3. gTcis [Option ID = 44834]
4, TeTTE [Option ID = 44833]

Correct Answer :-
« UETe [Option ID = 44833)

collegedunia:
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TP IdTE IU 0 1 U1 HfE U T F U6 G T o, orw R ymwuE, 91, 999 T
% fore fvan o 81 i © sl cowme Rl e Fwifes id gl

ST TR AT S[EST TAATAT SATIA T A 1600 SHAT F F7 47) IH S0 THRT Te0aT S SaET
T E TF oy s few o gm o TR TR #7 SR AT 21 T AT F iy A gy W i
faffaT sarae 1 ©F graa qrEdT T AT T AT F 954 & AT9-A79 TR ST F 56T 9T,
AT, AT T T & T o ety F 5w, g £ arey = ot F it & & adn
ATETT # TAATHAT IAHAST F FUAC H qEIH FIA S THEE I §1 OF 9E 97 € 79

AT SR CIARI A9 A L2497 F1 UF RIE F FqATT, A7 a99 AT oA g e g5 G
THETE ITATE B SHU T T FT #) NI # 99 ¥ T5ETE T AT ® 9T THEE, 9, §ET e, 1.9
=T anie (B & dodw &7 oag weome Far et 8), F o9 & o gug= o0g #7897 g g neat F
e ST § & gy T ¥ 3000 F wfew W wnt g € Be w20t € R fuege wrEegmn

4

STT F FIHEIE TN T F a7 & 09 5T O9 A5l ard| g9TF S 3-11 O 9 g5 #
¢ %1 e g &) T grET-an ywE s miAeE g &, w9t auee T8 w1 9 i F i ot
TETE % GO & FTO07 GUIH FO7 G700 sAFd T #i1 T0g AL & F5 g 17 gl T0% F1407 59 g0 & farwme st #r
B=T TRT, TEET FT ¥ may 73 wr s = g, ot £ ford, wET o awey afgy w2 ffot greawft
£ ELETH GEIE & 40 FT BrEIC g 9T A6 BRET & FOT, §od O @ 7 AT E @I 18 WEH § #5 I
FTet ag AT g e it w1 e gy 9 v § waw gEe grawr ad (e HRav i Rond-2010%
HEATT WTLT # 32 9 WIAAT T67 ST 18 4 ST Wi U= 79E T 499 7 1 T 26 WANT aqEF
STITET JUAF TETE F7TA99 FCAT ) WA 47 SrHS a9 (srareered) 2249, 2000 Fare s ar 128
ST qaT (7E%-16 .2 Ty, wEfiwt-7.2 siter) frm ¥ ey maTg gt s sorne 5 )

THETE 1 £190 TE § SHAT J99 5€ GHAT | Tg THTE & oA 019 &1 UHh AL (A f7g w7 % g
gy o o g d P sv e S am e g e areE e F dEa E et
ST ST fTE 9 TTTE F TEH I 9 # TATE § WO STHEIE G ST TF SATE ST 4T E
e Fr fimet # 10 9feT 7% F 7590 T T 4 9T v, FAw = gt S Fwawaw anit &
TOET 99 ¥ TEAT 2

TS P AT A HaH TUG1 I BI-91 81T 82 [Question ID = 18711]

1. T1dt [Option ID = 44838]
2. &R [Option ID = 44837]
3. USH [Option ID = 44835]
4, ST [Option ID = 44836]

Correct Answer :-
« T [Option ID = 44837]

collegedunia:
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TP IAE 00 w03 9 Hiftw TudTEg & o9 50 ¢, e sRuE ywuE, 994, 999 mau
% fore fvan o 81 i © sl cowme Rl e Fwifes id gl

ST # g T ey T sATATea f 7 1600 TAT # £ o 3w T sEE sea e S seae
T E TF oy s few o gm o TR TR #7 SR AT 21 T AT F iy A gy W i
faffaT sarae 1 ©F graa qrEdT T AT T AT F 954 & AT9-A79 TR ST F 56T 9T,
AT, AT T T & T o ety F 5w, g £ arey = ot F it & & adn
ATETT # TAATHAT IAHAST F FUAC H qEIH FIA S THEE I §1 OF 9E 97 € 79

AT SR CIARI A9 A L2497 F1 UF RIE F FqATT, A7 a99 AT oA g e g5 G
THETE ITATE B SHU T T FT #) NI # 99 ¥ T5ETE T AT ® 9T THEE, 9, §ET e, 1.9
=T afe (e & 7 dwe 9 7oy eoowme s 8), F e o ft gugs v FT e g 1 Aveat A
ArT ST £ & gun s ¥ 3000 F wfew Wy e g £ S wo tr € RRT fne e wrEeEmT

4

SET & FIAFICE THIT GEIT FLA AT F AT 5T AAE TR0 5001 TACF S 311 FH FIF gHIA F
gU T B g &1 TwET gvET-ay weTe T srHEE AT € FitE gue FE w0 a7 =i & i F off
TEATE & 0 & FI007 GUI TG 9700 saichal #1070 A€ B 5 TEL A0 g1 59F HIO07 59 4¢ & FE At w
B=T TRT, TEET FT ¥ may 73 wr s = g, ot £ ford, wET o awey afgy w2 ffot greawft
£ ELETH GEIE & 40 FT BrEIC g 9T A6 BRET & FOT, §od O @ 7 AT E @I 18 WEH § #5 I
et 7g gy dad s Frmit = B g 9 & wew vew SEwr ad () iRav A e -2010%F
HEATT WILT # 32 9 WIAAT 67 ST 18 4 ST WiEeTd gua= 74 ¥ 49T 7 ) TH 26 WAAT qAqCH
STITET JUAF TETE F7TA99 FCAT ) WA 47 SrHS a9 (srareered) 2249, 2000 Fare s ar 128
SIS qaT (MEF-16.2 WowT, AEfEEi-7.2 vitsr) e ¥ e mEg goanEt s 5 A

T #1107 T51 F §0#T G99 5¢ HaT 5| 95 THTE & o001 1 T A€ o fag 7o7 % Fg
ag gad iR T e d Rew sy e s ew e g g A AT aE F aEw E wT
ST ST fTE 9 TTTE F TEH I 9 # TATE § WO STHEIE G ST TF SATE ST 4T E
e Fr fimet # 10 9feT 7% F 7590 T T 4 9T v, FAw = gt S Fwawaw anit &
TOET 99 ¥ TEAT 2

BI-91 FYT T 82
1. YR, TP T a1 J Tad I8T1 IO 8 3R 8 a1 Ha- # diay &I W 2
2. TA9d USee clad! U4 gfear Ui & aR ©-t 9ad fie gwaurd g1 9ren YHuH T SdTe 8l

[Question ID = 18709]

1. 9 1 & 2 [Option ID = 44829]
2. &dd 1 [Option ID = 44827]
3, &dd 2 [Option ID = 44828]
4, 2 3T 3 [Option ID = 44830]

Correct Answer :-
« &ad 2 [Option ID = 44828]

collegedunia:
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T iE g FEfm e aarinE e s ot § framrarresa frew §
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FraTaTeTE T T TEriw F#57 w F) @ F ats eI & Ay d wr T R ww i wd T se ey
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
o smwdnsi s e mamrdnmsso g o & s AT o
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
AT 19 F1 9o FOT e F A I IR W 8, TR oo had Mg d & e
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

"3RuT FAreTeT geray &1 o fFmfafaa & @ wn &2

[Question ID = 18728]

1, S=31311 HI H1g H I@T [Option ID = 44905]
2. 351 Tl AT [Option ID = 44904]

3. G &I [Option 1D = 44903]

4, f5Et U $Y Tag HIT [Option 1D = 44906]

Correct Answer :-

« %51 I{t AT [Option ID = 44904]

13)
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Ty dm g R FreR - sss mm aRed e ot €, Framwmrarr R arew g
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TORT ARSI (e | F T SHH AT (9 (5w S TARTC BT AT H WIS A ATHT (& 4w SR AT
AT F T ATwET afvE faeim I w1 2 O SR R | e frAaiE
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
EraTaTeTE IS I e S AT E) A 0T F AN AT I # (A9gE AT W R TATRA TR SHART
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
e smmd s P e T T AT W E RO B IETE F EF A A S
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
sEmRmIT s ST st o st o Ee it el
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

ITRT Yreg, H FRafeafEa & & &9 ar awm 82

[Question ID = 18726]

1. ©g 9ATH [Option ID = 44896]

2. f§7 9919 [Option ID = 44895]

3. YU FHE [Option ID = 44897]
4, Sgalfe THY [Option ID = 44898]

Correct Answer :-

- 3eGTIHTE HTE [Option ID = 44897]

14)
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T i Edm e aRaeine e ataer e g Framrar s s ew ®
VAT ST TET AT AT AT T ¥ U e UF gy g0e 8, Tpw i nye,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FEraTeTeTs ST 9 TErder F AT ) @9 F s F e wy w5 aetE T g sueny
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
e smmd s P e T T AT W E RO B IETE F EF A A S
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
sfEERTT T e T R TR R £, R OAa (was Awg d g1 Tm Ay
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

Frafafaa aeat st ufde |
1. auf & wHT HT H el AR REE A € |

2.90HS P A gt & 4 Ft 3w gEdar g |

[Question ID = 18725]

1. BRI €fP § Pad gl aTed FEl § [Option ID = 44892]
2, STHIOIE =fp ¥ ST a1 Tad & [Option ID = 44894]
3, TR Eff ¥ GFT 9199 Hel & [Option ID = 44893)
4, TH0E =P § had Ygal a1ed el ¢ [Option ID = 44891]

Correct Answer :-

. SRS =P A I 919y FEl € [Option ID = 44893]

15)
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India’s largest Student Review Platform



T i Edm e aRaeine e ataer e g Framrar s s ew ®
TATET T AT AT AT SAT AT A F U SO OF TEe 9O &, Ip i v,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FEraTeTeTs ST 9 TErder F AT ) @9 F s F e wy w5 aetE T g sueny
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
o smwdnsi s e mamrdnmsso g o & s AT o
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
sfEERTT T e T R TR R £, R OAa (was Awg d g1 Tm Ay
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

Fafafaa ol ot ufew |
1. 3o & 39 HHY TR & IE |
2. & v 9gd 0 F W dter |

[Question ID = 18732]

1. SRR €fP § Pad gl a9 FEl § [Option ID = 44920]
2, STHfOIE =fY ¥ ST a1 Tad & [Option ID = 44922]
3, ST €ff ¥ &1 9199 Hel & [Option ID = 44921]
4, STHUE =P § had Ygal a1ed el ¢ [Option ID = 44919]

Correct Answer :-

« STEHRI0ME =P ¥ SHI 919 TTad & [Option ID = 44922]

16)
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Ty dm g R FreR - sss mm aRed e ot €, Framwmrarr R arew g
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TORT ARSI (e | F T SHH AT (9 (5w S TARTC BT AT H WIS A ATHT (& 4w SR AT
AT F T ATwET afvE faeim I w1 2 O SR R | e frAaiE
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
EraTaTeTE IS I e S AT E) A 0T F AN AT I # (A9gE AT W R TATRA TR SHART
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
e smmd s P e T T AT W E RO B IETE F EF A A S
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
sEmRmIT s ST st o st o Ee it el
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

AEF & IR FEfafEa &Y wraa 3R 8 9o €, R W wiita fewt g3 2: [Question ID = 18722]

1. taf~ GY1 HdgH1 [Option ID = 44881]

2, @G TYUT HTHYOT [Option ID = 44879]

3. W qYUT 3ffHede [Option ID = 44882)
4, HfiyedeT uT 32f [Option ID = 44880]

Correct Answer :-

« 37 FYT YIS [Option ID = 44882]

17) g g Fatm s -aednes ges o aese A e £, Frammras e srew
TATET T AT AL AT eAT ARG HATeT U e TR uge 500w €, I E e, 4y
TE R L A AR

Ui e & gy S S R i weoy A6 £ s g s £
THRT SRS (6 £ A S AT (3 5 S TR G0 FANT H ATE A ATHT (AT TR AT
T F S sET 2fF drrsfm e w i et e sl afgi e T riE g
SAIT A ¢ ? Ag AT FAR i S0 1 g g6 Ta arEu v § {9 g TE 91 9 (6 ge s
safe ave Sfr 1 oo mpma R S E g £ A d O A ag g B w e v Ofe
ara gea e, % IuE s A w9 A S wE T AR OF AW 56T BT S g a6 5
I FT FFITHTT B @A IR A e ow an e A g Frm aefaw aommr e ofr

Ffrsrmm o S se e soaw s g en giooE
e T TR AT ) S0 ® Aius eI & Mug d W ST S Tw R 9 auy
Sfmed s s s Rem srE s ToE e B I aE S R g A A s F 2
ITETHOT OF 967 & - T T A1 g, Fwwr g A e g S ek g Siag st d
Fasmmdn s i e msr A wm s s g F s iy oy
AT FT T od ware Fr e £18) Sav A g, e e 9, dftwer g ag wpAT AR
frwe g i fFET e nFaw ofEory e dE g I aEFa e
IO W FT FETE g F AEEL T AT F F Hoge gwe Ao TE g wwr iRy

o e Reammrag & 0 oft o & ol & sfrsd=manfirer Srft &, el & =, i
T, At A @ & T At F i s wd g A et | E frg ag e
STETFTCET TT9 51 4697097 FO0T8 F 95 AT H T F5 01 &, T8 091 (#0% @9d & 51 THaET
TEEAT TV F99 T FEFHL FATAT AFATE T WTERT w7 S 99 87 T 9 FT O IOCEM, 7
A FAT AT TR et B AUTHET £, 9% A9 AT ? 50 TF T A IUCRNT, ‘TRl THE qwT
wEATE R

Ifa ® [Question ID = 18720]
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1. U= 3TN BIT 8 [Option ID = 44874]

2. difg® 3aul il § [Option ID = 44871]
3. SUfATd YT Bl & [Option 1D = 44872]
4, 3@ 3T&HY BT & [Option ID = 44873]

Correct Answer :-
« U 3{THH0T B1aT € [Option ID = 44874]

18)

7% 3w g e wfim sraf-aredoos maw s arftsrtm ol g Rgarsrarr s arsew @
TATET S AT AL AT AT ARG FATT & L e O nge g g0 €, g mge i, 5y
TR L A A Y

T ST ey ¥ 0 ST AT e £ wEy A6 8 TE g = F Y
THFT AEACTA (0 7] AHT TH T (4w ST R FT ST H AT S AT (A e R
ST F T gy gty dresfm A e d el e =l mRoieror S iF e
ST 7RI &< ? TEAT ARA G H 00 51 G5 T Tl d AARA0 [od g1 T 9E (6 gead
safe are Sl 1 oo mpman S EE g £ A d g A e g B aie re ves afew
AT g e, % IO sl w9 R NS 9T AR OF AW 56T IR S g a6d 59
I FT AFITHTT F T IR A F 2w an g Fafy gra w monefuw aomm e ofr

Ffmsomm o Sim s s ssErr o smdiggien o TE
faraTaTeTs sTfEr 9 verder T AT #) @9 & sty T ow ® A s fr e =i g seany
St s s s e s s Tas e S T aRE T s A s Fr i
IHETHT OF 967 & - TF CHT A1 g, Fwwm gy S e g i re A Sifag st d
s w9 T B S R Ay AT TAGT T F F BT AFATE [ FAF A A A
AT FT S o wne ST R #18) S A, R e 9, dftwer g weAT IRy
st o Hitdhomaaatd oEaw ofrmagsddea s
FTO0 W0 T AWTF g & ATEEL I T w0 F Erege gue e A g I iRy

a & Fearag & & oft v & oofie & sfrsdsmranee grefr &, h o =, i o
1, #iEw are S & wfie wfHat s i sftewr od grorg desfimatHais g ag ot
s s T s R e w s o s Rt dimad
AT FTAVA FA9 TE FEHL FATAT AFATE & TR w7 £ 59 87 TH 9F T AT IOCEM, 7
A FAT T TR ARt B ATTHE £, 95 A9 AT ? 56 TH T A IUC RN, R THE TRy
weATER)

AraT-fiaT Sreg & HI1-W1 TAH 82 [Question ID = 18731]

1.

%& 99 [Option ID = 44917]

2. Sgsiife IH [Option ID = 44918)
3. ISMYTT T [Option ID = 44915]

4,

f$7] ¥HRA [Option ID = 44916]

Correct Answer :-

T HHTY [Option ID = 44917]
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T iE g FEfm e aarinE e s ot § framrarresa frew §
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FraTaTeTE T T TEriw F#57 w F) @ F ats eI & Ay d wr T R ww i wd T se ey
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
o smwdnsi s e mamrdnmsso g o & s AT o
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
AT 19 F1 9o FOT e F A I IR W 8, TR oo had Mg d & e
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

‘Hrig Frerer geray &1 o Frafaf@d § @ a1 82 [Question ID = 18733]

1. 9gd S ¥ YA &1 HIFAY HA1 [Option ID = 44926]
2. (@RI €19 ggl [Option 1D = 44923]

3. FIfF I BEM HT [Option ID = 44925)

4, Tt U= SR AT [Option ID = 44924

Correct Answer :-

« BRI GIY gg1 [Option ID = 44923]

20) % 3% & ol wreafF-aredoos aam ararfeeem o ¢ Baawrasfis fisew e
FATET T AT AE A FAT AR Sl # G e wF wEw T aoe &, apm f meed, ey

TR I A AR
T S & gy e s e f wey T ) s oo | e

T AT R &1 3wt e R v T S s A R
AT g 5T ey S SFTedw 1A 1 2 owr e e T e e e £ 1R

AT AR ®L ? TR AT GRS (% o910 F7 G790 59 Ue 19 AFA F (09 g7 9195 (% gew

safe ave Sfr 1 oo mpma R S E g £ A d O A ag g B w e v Ofe
ara gea e, % IuE s A w9 A S wE T AR OF AW 56T BT S g a6 5
I FT FFITHTT B @A IR A e ow an e A g Frm aefaw aommr e ofr

o o Sfm e d s s smdiagiem o oE

e T TR AT ) S0 ® Aius eI & Mug d W ST S Tw R 9 auy
Sfmed s s s Rem srE s ToE e B I aE S R g A A s F 2
ITETHOT OF 967 & - T T A1 g, Fwwr g A e g S ek g Siag st d
oo s T S A B WA R T Ay AT TIGT IH F RO BT AFATE [ ST A A I
AT FT T od ware Fr e £18) Sav A g, e e 9, dftwer g ag wpAT AR
frwe g i fFET e nFaw ofEory e dE g I aEFa e
IO W FT FETE g F AEEL T AT F F Hoge gwe Ao TE g wwr iRy
o e Reammrag & 0 oft o & ol & sfrsd=manfirer Srft &, el & =, i

F9, AT qre S & il st & i s ok g s adm atHai s e ag g

TR TS T s e R e T e Rt mad
TUTGT FTAVA FA0 T FEFL FATAT TFATE T Fafio 7 £1€ 99 82 o0 97 T HT INCEN, B

A FATAT TET-H A=t A AATEFA &, 95 A9 FATR 2 TH VA FT A SACENA, TR | T TR
whaTid

PrafafEa § $H-91 e 314 3 oevd | T1E1 59 X 9 37 9iee” & 3 & HTH F9 &2 [Question ID = 18721]
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1. et 1t oy < o amuet S 9 €9 T [Option ID = 44876]

2. Y] T ggd AU S @ 31 [Option ID = 44877]

3. 54 URUMRGwY Ut Y IETEE € &1 [Option ID = 44878]
4, 39T S TG $H H T ST [Option ID = 44875]

Correct Answer :-

- 3TUH! SUH 9gd 4P T T <7 [Option ID = 44877)

21) 7% 5% 2 F i wrE-aredues aww sur aRE e At £, B e e sE arwew
TATET S AT AL AT AT ARG FATT & L e O nge g g0 €, g mge i, 5y
TR L A A Y

T ST ey ¥ 0 ST AT e £ wEy A6 8 TE g = F Y
THFT AFATETG A 21 ST SHH FaTe (AT G w0 WA WIS A AT A e WET T
ST F T gy gty dresfm A e d el e =l mRoieror S iF e
ST 7RI &< ? TEAT ARA G H 00 51 G5 T Tl d AARA0 [od g1 T 9E (6 gead
safe are Sl 1 oo mpman S EE g £ A d g A e g B aie re ves afew
AT g e, % IO sl w9 R NS 9T AR OF AW 56T IR S g a6d 59
T T AT F TETHET IR I T5F o 99T F i g F Ty ey somw T ot

Ffmsomm o Sim s s ssErr o smdiggien o TE
Ferarereae stftr o werder wwTe £ @il & sfistser o & Ser g s drw s st ad T g seany
St s s s e s s Tas e S T aRE T s A s Fr i
IHETHT OF 967 & - TF CHT A1 g, Fwwm gy S e g i re A Sifag st d
s w9 T B S R Ay AT TAGT T F F BT AFATE [ FAF A A A
AT FT S o wne ST R #18) S A, R e 9, dftwer g weAT IRy
st o Hitdhomaaatd oEaw ofrmagsddea s
FTO0 W0 T AWTF g & ATEEL I T w0 F Erege gue e A g I iRy

I et Rramag & 0 oft oo & ofi & afsdsmranfie Srdft @, i o e, i 2
7, A A S & e st s fe wiew s g s e s g ag o
sfEErmms dEiT st R omm st mon EmEAwddimad
AT FTAVA FA9 TE FEHL FATAT AFATE & TR w7 £ 59 87 TH 9F T AT IOCEM, 7
A FAT T TR ARt B ATTHE £, 95 A9 AT ? 56 TH T A IUC RN, R THE TRy
weATER)

Frafafae o @t afge |
1. g SAA @ aga UEG & |
2,309 $I G qTeY YHAT 959 31 79471 & | [Question ID = 18729]

1. TR0 2P § T 919 Tad & [Option ID = 44910]
2. ENEE =P § Fad Ugen 9T Wel & [Option ID = 44907
3, TR0 €Y § Had gudl 9799 el & [Option ID = 44908]
4, ST 2P § GHT 919 Fel € [Option ID = 44909]

Correct Answer :-
- RIS €F § Had gu 19 Hel & [Option ID = 44908]
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T iE g FEfm e aarinE e s ot § framrarresa frew §
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FraTaTeTE T T TEriw F#57 w F) @ F ats eI & Ay d wr T R ww i wd T se ey
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
o smwdnsi s e mamrdnmsso g o & s AT o
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
AT 19 F1 9o FOT e F A I IR W 8, TR oo had Mg d & e
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

Frafafea ol 1 aftu |
1. G3 &6 Id G-S G A1 U7 |
2. 93 39 ¢ F1 fewe wilien & ot faweht 1 it 8 | [Question ID = 18730]

1. SATERI0E P | GHT a1 Wel § [Option ID = 44913]
2. SRR € ¥ ST 919 e © [Option ID = 44914]
3. SUTEHRI0I =P § Hae el 9/ TE & [Option ID = 44912]
4, SO 2P § Had Ugal a1d el & [Option ID = 44911]

Correct Answer :-

. THIP =P T had ygar a9 FE € [Option ID = 44911]

23) TR dE g FEm srE - eE gEs Tar AR A £, Frasra e wrwew
FATETEE ST AE W aAT AR S ¥ T suaw oF wgeyn w0 &, TpT i vy,

L FIEI0 HaT Al B
T gore & gy # ot A A s S seor A & vew oo smfE £

THET AEA OIS 0 71 AR Tad gaTer fa e defrawT g SE e AT W ave T A ww AT
EHAtF o g s Sessfm s i Fah e aRTt e o T T

ST AEI F< ? TE AT FRIAY & G0 F7 Geq 89F U@ AHUWF 799 gATE AT # gaaH

s AT ST I T Fe A TR S AR g ST T R g A T i F e rw s SfmEw
F 9T FEE AT R, F IoE el vt w5 v gudy e vE e s g s ge e o T
TTTHT AFITEAT J WETHAHT IR FT: ToF oF GRATE (4 9917 G- & 59 NTai8® GOae 9% 57

TIETET AT gET SRR O BT

AT g w e Fr e & i F e F At e =g i saay
TaETO &1 399 99 HEad $TUF THT TURTEAT 8 FT @A+ a8 Tq I S s #1 2 1%
FEFRTHAT OF 9 £ - UF O A g, Few e A e § i s ae Smw e
S TERTE R FE AE B WA (R Ag AT 1997 T9 F RO BT ARATE [ AR AN A AR
Tt w1 G- s e frafe i g g, FEm e 8 dRmsr dmmee
£ 55 & Tl 1 el s mvand &, mfE arE oo s s A A O Afd T
FTor wfia #7 whisew g9 FaEn a IR T F e o R w g Eer I mraRw
oy Freft Rrgrmrag & &, onft v ¥ ol 3 srfrstora afarer gt &, et o =y, ey 8

F5, T A &g & wifg wfAat s i e ad g s afm et s S ag ad

TR IT s T s R e o At hi mad
TOAT FTAUA F99 TEFEFL FATAT AFATE I FTEfio #1 $1E 99 87 ©0 WF FTHO IOCEA, 5

A FATaT TR et H ATEES £, 9% 99 T ? 59 TF F1 AU IC AN, ‘AAr| T aar
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ATt &1 w1 ¢ f, e &1 araA ol 1 diftawa sifra & sifafvea ofik &1€ ord 181 8, #4ifH: [Question ID = 18723]

1. ofe ifia wafydl #t ve IR soren $3 & 91 Td 83 HIS UHF 81 ST | [Option ID = 44886]

2, AT = Wifid & w0 o ag o & Fung @it w1 & fig-fi ord R &t HIfrer &1 1 [Option ID = 44884)

3. Udd Tifta =1 &1 U i 3 g1aT 8 | [Option ID = 44885)
4. fafim @l 9 I9@! Giita 991 &1 ST &3 S HIFY B | [Option 1D = 44883]

Correct Answer :-
« U Gifid T91 &1 U firg 31 811§ | [Option ID = 44885]

24)

7 dF ¢ el srafarsdnes o ro ateefw ol g gasrarrsE fraew @
TATET S AL AL A 2AT AR EATT B e O uge 900 €, T e, Hy
TR AT R

T SO F Ay % S ST AT w T £ Fey A9 81 TEE g = § #y
TORT FEE A (W g A E T AT (3 (9 S (AR G0 FANT H ATE A AT (Ao RIS
ST F 5 sy afy g A o & el sfmer = mRoi e S ais g
AT AR] #4 2 TG AT ARG [ A0 H1 God G806 G4 AFUV &1 o g7 AT qg 16 Gada q
s FTH Tl 7 TOAT SR S E g T w4 R o A 1 d T e e veE aefrE
Fora gea e, % IuE e w9 w A s wE T AR OF A 5T BT S g a6 5
ITTFT FAST LT B TETIAT IR AT 5T o IFATE F O g F rm e iEE somm e ot

Ffm ermw e R S Regr? st shssrsomw s Tgien o TE
e E g Wy FT A £ Ffe s afs s F et e fr s aatad g seany
S s smr s e e s TaE e I I aEE e F A A s Fr 2
FARTETT OF a7 & — CF UHT 1o, Forwsr sraw i ofias & s sos g afoag st o
o soFTI o A R I A R Ay A AT S F F BT AFATE I S AT I
T FT - o we ST #78) Sacamg, Fiie e 9, dftwey yag wgATaEe
st o T oma s g oofrmagaidEa T AT
FTO0 WA FT AETF g F AEEL T AT w0 F Hege gwe oI A e e iRy

I fsft Rramerag & 0, oft oo & fi o st e anfr @, el o e, R
T, Wit A S & S m A E e wiw s grTg A et mEaE i ag
s TR T s R e w s s Em R dimad
TEEAT STV F99 T FEHL FATT AFATE & WU $T FE 99 £2 T I ¥ AT IOCEA, B
A T TR Tt F AR £, 95 90 T ? 59 TF F7 AU UGN, ‘ARl T aa
FEATER)

Aol WeE $1 fAwH S1H-91 82 [Question ID = 18727]

1. 3TfEHMadr [Option ID = 44902]
2. §e¥dT [Option ID = 44899]

3. SHISAT [Option 1D = 44901]
4, Fdl [Option ID = 44900]

Correct Answer :-
« FeXdl [Option ID = 44899]
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T iE g FEfm e aarinE e s ot § framrarresa frew §
TR AT TE WA FAT AR v ¥ G o oF wgey g0 & agw ey,
TR LT AT

TS SO Ay W S S A s £ TEeT FE #1 TF anaTe Sk F Ay
TOFRT AFAOTEAA g ) FH SHH T (A0 A TR T G0 5T H A8 A a1 T (A0 TR AT
ST F T arwEy gty fdesfm s w8 oy s g S afE e
ST A1 #4 2 TG AT ARG (6 H17 61 G0 G006 Trnld AHA 6 (70 g1 4195 (6 Graca s
safe ATt Sl 1 oo s ST g 5 v ) g e an g o a e am vew S
O Fea ATTE, % SuE N w0 ST I ah T ST OF AW ST T S g a9 £
AT FT FIIT T E AT AR T TEE o TEATE F H gad F o araiiE suww w6
ERGIE R IR B R e E G E IR AR R

Ffmesrmm R S ew g st asETssrmw g TR B T OE
FraTaTeTE T T TEriw F#57 w F) @ F ats eI & Ay d wr T R ww i wd T se ey
T s s e A s T s e S T aEE T T g A A e Fr 2
ITETHT OF 967 & - TE T Ao g, Frawr sroay Fefrofa & s vo g wofoag afta=ra
o smwdnsi s e mamrdnmsso g o & s AT o
AT FT T o s ST Fifere $18) S amaTe, A er ¥ dfver g g wgArEw
St s S ET e o ofEo s el dTE g T #ET T
FIO0 W9 T AWHATF F F ANFL A AT HC F Aoger 392 FATCa 7 g e iR

o o o & of o ¥ T ¥ s anfiw 6eft &, Gefr v Gl
Fu, #AfEw A S @fie afFat i s st g s afo st s e ag ad
AT 19 F1 9o FOT e F A I IR W 8, TR oo had Mg d & e
T TN £A9 T FEHL (R AT AT AFRATE % FATE T FT %15 98 £ TH W T 00 IACENT, B
i FAT T TET-T st A AATAFA €, T D T ? TH WA T AU IAC RN, TR THE I
FEATERI

TTeld aTegTel ®1 Ugar SIfoTd: [Question ID = 18724]

1. TR # FE1-381 gard @it € [Option ID = 44889)

2. uE-YaE Uk H Tge U1 [Option ID = 44887]

3. Y9e-Yde coa Wil & iU aTHEd® © [Option ID = 44890)
4. T HRU §H Tpfd ¥ U= W1 § 34: [Option ID = 44888)

Correct Answer :-

. IR § §E-62 gard @t & [Option ID = 44889]
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